

Coefficients of symmetric power L -functions on integers under digital constraints

Khadija Mbarki 

Faculté des sciences de Monastir, Département de Mathématiques
Monastir 5000, Tunisie
e-mail: mbarkikhadija@yahoo.fr

Received: 12 June 2025

Revised: 12 November 2025

Accepted: 15 November 2025

Online First: 4 December 2025

Abstract: Let $\lambda_{\text{sym}^r f}(n)$ be the n -th coefficient in the Dirichlet series representing the symmetric power L -function attached to a primitive form f of weight k and level N . In this paper, we give asymptotic formulas for the arithmetic mean of $\lambda_{\text{sym}^r f}(n)$ on integers under digital constraints related to the sum of digits function. Our results throw the light on the behavior of the classical function $\lambda_{\text{sym}^r f}(n)$ on integers in arithmetic progression related to the sum of digits function.

Keywords: Modular forms, L -functions, Dirichlet coefficients, Sum of digits function, Arithmetic progression.

2020 Mathematics Subject Classification: 11N37, 11T23.

1 Introduction

Let $k \geq 2$ an even integer and $N \geq 1$ a squarefree integer. Denote $\mathcal{H}_k^*(N)$ the set of holomorphic primitive forms of weight k for the congruence group $\Gamma_0(N)$. Each $f \in \mathcal{H}_k^*(N)$ has a Fourier expansion in ∞ of the form

$$f(z) = \sum_{n=1}^{+\infty} \lambda_f(n) n^{\frac{k-1}{2}} \exp(2i\pi n z), \quad (\Im z > 0),$$



where $\lambda_f(n)$ is the n -th normalized Fourier coefficient of f and verify the Hecke relation

$$\lambda_f(n)\lambda_f(m) = \sum_{\substack{d|(m,n) \\ (d,N)=1}} \lambda_f\left(\frac{mn}{d^2}\right)$$

for all positive integers m and n . A result by Deligne [5, 6] implies that for each prime number p there exist two complex numbers $\alpha_f(p)$ and $\beta_f(p)$ such that

$$\begin{cases} |\alpha_f(p)| = \alpha_f(p)\beta_f(p) = 1, & \text{if } (p, N) = 1 \\ \alpha_f(p) = \varepsilon_f(p)p^{-1/2}, \beta_f(p) = 0, & \text{if } p|N \end{cases} \quad (1)$$

with $|\varepsilon_f(p)| = 1$, and

$$\lambda_f(p^\nu) = \begin{cases} \alpha_f(p)^\nu + \alpha_f(p)^{\nu-1}\beta_f(p) + \cdots + \beta_f(p)^\nu, & \text{if } (p, N) = 1 \\ (\varepsilon_f(p)p^{-1/2})^\nu, & \text{if } p|N \end{cases} \quad (2)$$

for all integer $\nu \geq 1$. The Ramanujan conjecture states that for all prime numbers p , we have

$$|\alpha_f(p)| = |\beta_f(p)| = 1. \quad (3)$$

As a consequence, we get

$$|\lambda_f(n)| \leq d(n) \quad (n \geq 1), \quad (4)$$

where $d(n)$ is the number of positive divisors of n . In addition, for all $(p, N) = 1$, there exists a unique $\theta_f(p) \in [0, \pi]$ such that

$$\lambda_f(p) = 2 \cos \theta_f(p). \quad (5)$$

If r is a positive integer and $f \in \mathcal{H}_k^*(N)$, then we construct the r -th symmetric power of f denoted by $\text{sym}^r f$. When $r = 1, 2, 3, 4$, it is known that $\text{sym}^r f$ is an automorphic form. In the general case, it is predicted by the conjecture of Langlands–Serre [7]. It is easy to define it via its L -function. We define then for $\Re s > 1$

$$L(s, \text{sym}^r f) = \prod_p \prod_{0 \leq j \leq r} (1 - \alpha_f(p)^{r-j} \beta_f(p)^j p^{-s})^{-1} = \sum_{n \geq 1} \lambda_{\text{sym}^r f}(n) n^{-s}.$$

It is not difficult to see that the function $n \mapsto \lambda_{\text{sym}^r f}(n)$ is real multiplicative and satisfy

$$|\lambda_{\text{sym}^r f}(n)| \leq d_{r+1}(n) \quad (n \geq 1), \quad (6)$$

where $d_2(n) = d(n)$ and $d_{r+1}(n) = \sum_{(d,n)=1} d_r(d)$. Let $U_r(u)$ be a Tchebychef polynomial of second kind and of degree r . It is well-known that (see for example [10])

$$\lambda_{\text{sym}^r f}(p) = \lambda_f(p^r) = U_r(\cos \theta_f(p)) = \frac{\sin((r+1)\theta_f(p))}{\sin \theta_f(p)} \quad (p, N) = 1. \quad (7)$$

Therefore, if n is a squarefree integer coprime with N , we have

$$\lambda_{\text{sym}^r f}(n) = \lambda_f(n^r). \quad (8)$$

Mazhouda, Mbarki and Wu established an explicit formula for $\lambda_{\text{sym}^r f}(n)$ in [9, Proposition 2.1] given in the following proposition.

Proposition 1.1. *Let $k \geq 2$ be an even integer, $N \geq 1$ be a squarefree integer and $f \in \mathcal{H}_k^*(N)$. For all integers $r \geq 1$ and $\nu \geq 0$, we have*

$$\lambda_{\text{sym}^r f}(p^\nu) = \prod_{j=1}^r \frac{\sin((\nu + j)\theta_f(p))}{\sin(j\theta_f(p))} \quad (p, N) = 1, \quad (9)$$

where $\theta_f(p)$ is defined as in (5).

Now, given a real number x , $[x]$ denotes the greatest integer $\leq x$ and for an arbitrary fixed $q \geq 2$ denote by $\log_q(x) = \frac{\log x}{\log q}$ the logarithm to the base q . The analysis includes the q -adic numbers \mathbb{Q}_q and the ring of integers \mathbb{Z}_q . Recall that each $n \in \mathbb{Z}_q$ can be expressed in the form

$$n = \sum_{k=k_0}^{\infty} a_k(n)q^k \quad (10)$$

with $0 \leq a_k(n) \leq q-1$ and $a_{k_0}(n) \neq 0$. The q -adic integers \mathbb{Z}_q correspond to the case $k_0 \geq 0$. We set

$$S(n) = S_q(n) = \sum_{k=k_0}^{\infty} a_k(n).$$

The function S is the sum of digits function in basis q and it is a completely q -additive function which means that $S(0) = 0$ and $S(n) = \sum_{k=k_0}^{\infty} S(a_k(n))$. This implies that S is completely determined by its values on the set $\{0, 1, \dots, q-1\}$. There has been interest in various properties, and in particular asymptotic properties, of this function for a long time. For example, one of the earliest results [1] is that the average of the values of this function over the integers from 1 to n behaves asymptotically as $\frac{q-1}{2} \log_q(n)$. Such functions were introduced by Gelfond [8] and further studied by Delange [4], Coquet [3], and many related results, as well as new developments (see [11, Chapter 4, paragraph 3]). The distribution of the sum of digits function in residue classes has been studied by Gelfond [8], the crucial part in the proof is the following result that we shall need in the sequel.

Theorem A. *Let $q \geq 2, m \geq 2$ be integers such that $(m, q-1) = 1$ and $\delta \in \mathbb{R}$. Then, we have for $1 \leq h \leq m-1$,*

$$\left| \sum_{n=1}^N e\left(\delta n + \frac{h}{m} S(n)\right) \right| = O_q(N^\lambda) \quad \text{as } N \rightarrow +\infty,$$

where $\lambda = \frac{1}{2 \log q} \left(\frac{q \sin(\pi/2m)}{\sin(\pi/2mq)} \right) < 1$.

Note that the hypothesis $(m, q-1) = 1$ is not necessary but it allows to avoid some degenerated cases which lead to a couple of congruences on n . Indeed, if we put $(m, q-1) = l > 1$, then the congruence $q \equiv 1 \pmod{l}$ implies the congruence $n \equiv S(n) \equiv a \pmod{l}$ since $(q-1)|(n - S(n))$. Since $\lambda_{\text{sym}^r f} = \mathbf{1} * g$ where $g = \lambda_{\text{sym}^r f} * \mu$ and μ is the Möbius function. So we write

$$\lambda_{\text{sym}^r f}(n) = \sum_{d|n} g(d) = \sum_{d|n} \sum_{h|d} \mu(h) \lambda_{\text{sym}^r f} \left(\frac{d}{h} \right) = \sum_{d|n} \mu(d) \times [\lambda_{\text{sym}^r f} * \mathbf{1}] \left(\frac{n}{d} \right).$$

Let $a \in \mathbb{Z}$ and let q and m be integers ≥ 2 such that $(m, q-1) = 1$, we define the following function that depends on n, q, a and m by

$$\widetilde{\lambda_{\text{sym}^r f}}(n) = \sum_{\substack{d|n \\ S(d) \equiv a \pmod{m}}} \mu(d) \times [\lambda_{\text{sym}^r f} * \mathbf{1}]\left(\frac{n}{d}\right),$$

where $S(n) = S_q(n)$ is the sum of digits in base q of a positive integer n .

Then, Section 2 of this paper is devoted to finding estimates of average of the function $\widetilde{\lambda_{\text{sym}^r f}}(n)$ which is the function $\lambda_{\text{sym}^r f}(n)$ defined on numbers under digital constraints.

1.1 Notations

In what follows, p always denotes a prime number. For any real number x , we define $e(x) = e(2\pi i x)$. The greatest common divisor of two integers a and b will be denoted by (a, b) . The implied constants in the symbols “ O ”, “ \ll ” are absolute (recall that the notation $U \ll V$ is equivalent to the statement that $U = O(V)$ for positive functions U and V). We also use the symbol “ o ” with its usual meaning: the statement $U = o(V)$ is equivalent to $U/V \rightarrow 0$.

Finally, in order to detect the congruences, we shall use the classic orthogonality relation

$$\frac{1}{m} \sum_{j=0}^{m-1} e\left(\frac{j(a-b)}{m}\right) = \begin{cases} 1, & \text{if } a \equiv b \pmod{m} \\ 0, & \text{else.} \end{cases} \quad (11)$$

2 Auxiliary estimates

Let f be a Hecke eigencusp form of even integral weight k . By the Cauchy–Schwarz inequality we get

$$\sum_{n \leq x} \lambda_{\text{sym}^r f}(n) \ll \sum_{n \leq x} |\lambda_{\text{sym}^r f}(n)| \ll x^{1+\varepsilon}. \quad (12)$$

Tang and Wu [12, Theorem 3] establish some bounds for the sum $\sum_{n \leq x} |\lambda_{\text{sym}^r f}(n)|$. They obtained the following:

$$\sum_{n \leq x} |\lambda_{\text{sym}^r f}(n)| \sim C_r(f) x (\log x)^{-\delta_r} \quad (13)$$

unconditionally for $x \rightarrow \infty$, where $\delta_r = 1 - \frac{4(r+1)}{\pi r(r+2)} \cot \frac{\pi}{2(r+1)}$ and $C_r(f)$ is a positive constant depending on f and r .

Guohua and Xiaoguang [2, Theorem 1] improved the result of Tang and Wu [12] for the $\sum_{n \leq x} \lambda_{\text{sym}^r f}(n)$ and proved that:

Lemma 2.1. *Let f be a primitive cusp form for the full modular group $SL_2(\mathbb{Z})$ of an even weight $k \geq 2$ and let $r \geq 2$ be an integer. Then, for any $\varepsilon > 0$, we have*

$$\sum_{n \leq x} \lambda_{\text{sym}^r f}(n) \ll k^{\frac{r(r+1)}{2(r+2)}} x^{\frac{1}{(r+2)}+\varepsilon} + x^{\frac{r}{(r+2)}+\varepsilon},$$

where the implied constant depends on r and ε .

The previous uniform upper bound in Lemma 2.1 is nontrivial in the range $k \ll x^{2/r}$ and in fact it is the current best upper bound up to x^ε with respect to x .

3 Asymptotic formulas

The average of the function $\widetilde{\lambda_{\text{sym}^r f}}(n)$ is given in the following theorem.

Theorem 3.1. *Let f be a primitive cusp form for the full modular group $SL_2(\mathbb{Z})$ of an even weight $k \geq 2$ and let $q \geq 2$, $m \geq 2$ be integers such that $(m, q-1) = 1$ and $a \in \mathbb{Z}$. Then, for $r \geq 2$ and for any $0 < \varepsilon < \frac{2}{r+2}$, we have*

$$\sum_{n \leq x} \widetilde{\lambda_{\text{sym}^r f}}(n) = \frac{[\alpha_r + \alpha_{m,r}]}{m} x + O_{r,\varepsilon} \left(k^{\frac{r(r+1)}{2(r+2)}} x \right) + O \left(\frac{x}{(\log x)^{\delta_r}} \right),$$

unconditionally for $x \rightarrow \infty$ and uniformly in the range $k \ll x^{2/r}$, where

$$\alpha_r = \int_1^{+\infty} \sum_{d \leq x} \frac{\mu(d)}{d} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2},$$

$$\alpha_{m,r} = \sum_{j=1}^{m-1} \int_1^{+\infty} \sum_{d \leq x} \frac{\mu(d)}{d} e \left(\frac{-j}{m} a + \frac{j}{m} S(d) \right) \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2}$$

$$\text{and } \delta_r = 1 - \frac{4(r+1)}{\pi r(r+2)} \cot \frac{\pi}{2(r+1)}.$$

Proof. We have

$$\begin{aligned} \sum_{n \leq x} \widetilde{\lambda_{\text{sym}^r f}}(n) &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{\substack{n \leq x \\ n \equiv 0 \pmod{d}}} [\lambda_{\text{sym}^r f} * \mathbf{1}] \left(\frac{n}{d} \right) \\ &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{h \leq \frac{x}{d}} [\lambda_{\text{sym}^r f} * \mathbf{1}](h) \\ &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \sum_{l \leq \frac{x}{dh}} 1 \\ &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \left[\frac{x}{dh} \right] \\ &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \left(\frac{x}{dh} + O(1) \right) \\ &= x \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \frac{\mu(d)}{d} \sum_{h \leq \frac{x}{d}} \frac{\lambda_{\text{sym}^r f}(h)}{h} + O \left(x \sum_{d \leq x} \frac{|\mu(d)|}{d} \sum_{h \leq \frac{x}{d}} |\lambda_{\text{sym}^r f}(h)| \right). \end{aligned}$$

For the error term, we use the result of equation (13) to get

$$\begin{aligned}
x \sum_{d \leq x} \frac{|\mu(d)|}{d} \sum_{h \leq \frac{x}{d}} |\lambda_{\text{sym}^r f}(h)| &\sim C_r(f) x^2 \sum_{d \leq x} \frac{|\mu(d)|}{d^2} \left[\log \left(\frac{x}{d} \right) \right]^{-\delta_r} \\
&\ll x^2 \sum_{d \leq x} \frac{1}{d^2 \left[\log \left(\frac{x}{d} \right) \right]^{\delta_r}} \\
&\ll \frac{x^2}{(\log x)^{\delta_r}} \sum_{d \leq x} \frac{1}{d^2} \\
&\ll \frac{x}{(\log x)^{\delta_r}}.
\end{aligned} \tag{14}$$

Now, let us compute the sum $\sum_{h \leq \frac{x}{d}} \frac{\lambda_{\text{sym}^r f}(h)}{h}$. By applying Abel's summation formula, we get

$$\sum_{h \leq \frac{x}{d}} \frac{\lambda_{\text{sym}^r f}(h)}{h} = \frac{d}{x} \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) + \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2}.$$

The last formula combined with the orthogonality relation (11) and equation (14) yield

$$\begin{aligned}
\sum_{n \leq x} \widetilde{\lambda_{\text{sym}^r f}}(n) &= \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \\
&\quad + x \sum_{\substack{d \leq x \\ S(d) \equiv a \pmod{m}}} \frac{\mu(d)}{d} \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} + O\left(\frac{x}{(\log x)^{\delta_r}}\right) \\
&= \frac{1}{m} \sum_{j=0}^{m-1} \sum_{d \leq x} \mu(d) e\left(\frac{-j}{m}a + \frac{j}{m}S(d)\right) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \\
&\quad + \frac{x}{m} \sum_{j=0}^{m-1} \sum_{d \leq x} \frac{\mu(d)}{d} e\left(\frac{-j}{m}a + \frac{j}{m}S(d)\right) \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} + O\left(\frac{x}{(\log x)^{\delta_r}}\right) \\
&= \frac{1}{m} \sum_{d \leq x} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) + \frac{1}{m} \sum_{j=1}^{m-1} \sum_{d \leq x} \mu(d) e\left(\frac{-j}{m}a + \frac{j}{m}S(d)\right) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \\
&\quad + \frac{x}{m} \sum_{d \leq x} \frac{\mu(d)}{d} \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} \\
&\quad + \frac{x}{m} \sum_{j=1}^{m-1} \sum_{d \leq x} \frac{\mu(d)}{d} e\left(\frac{-j}{m}a + \frac{j}{m}S(d)\right) \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} + O\left(\frac{x}{(\log x)^{\delta_r}}\right).
\end{aligned}$$

So, we get four sums with an error term. Let us investigate them. According to the result of Lemma 2.1, we have

$$\frac{1}{m} \sum_{d \leq x} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) \ll k^{\frac{r(r+1)}{2(r+2)}} x^{\frac{1}{(r+2)} + \varepsilon} \sum_{d \leq x} \frac{1}{d^{\frac{1}{(r+2)} + \varepsilon}} + x^{\frac{r}{(r+2)} + \varepsilon} \sum_{d \leq x} \frac{1}{d^{\frac{r}{(r+2)} + \varepsilon}}.$$

It is well-known that

$$\sum_{h \leq x} \frac{1}{h^v} = \begin{cases} \frac{x^{1-v}}{1-v} + \zeta(v) + O(x^{-v}), & \text{if } v \neq 1 \\ \log(x) + \gamma + O\left(\frac{1}{x}\right), & \text{if } v = 1, \end{cases} \quad (15)$$

where ζ is the Riemann zeta-function and γ is the Euler–Mascheroni’s constant defined by the equation

$$\gamma = \lim_{x \rightarrow \infty} \left(\sum_{n \leq x} \frac{1}{n} - \log(x) \right).$$

So, we get

$$\begin{aligned} \frac{1}{m} \sum_{d \leq x} \mu(d) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) &\ll k^{\frac{r(r+1)}{2(r+2)}} x^{\frac{1}{(r+2)} + \varepsilon} \times x^{1 - (\frac{1}{(r+2)} + \varepsilon)} + x^{\frac{r}{(r+2)} + \varepsilon} \times x^{1 - (\frac{r}{(r+2)} + \varepsilon)} \\ &\ll k^{\frac{r(r+1)}{2(r+2)}} x, \end{aligned} \quad (16)$$

where the implied constant depends on r and ε . Now, for the second one, we use the result of Lemma 2.1 to obtain

$$\frac{1}{m} \sum_{j=1}^{m-1} \sum_{d \leq x} \mu(d) e\left(\frac{-j}{m}a + \frac{j}{m}S(d)\right) \sum_{h \leq \frac{x}{d}} \lambda_{\text{sym}^r f}(h) = O_{r,\varepsilon} \left(k^{\frac{r(r+1)}{2(r+2)}} x \right). \quad (17)$$

For the third sum, since $0 < \varepsilon < \frac{2}{r+2}$, then according to Lemma 2.1:

$$\begin{aligned} \int_1^{+\infty} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} &\ll \int_1^{+\infty} \left[k^{\frac{r(r+1)}{2(r+2)}} \frac{u^{\frac{1}{(r+2)} + \varepsilon}}{u^2} + \frac{u^{\frac{r}{(r+2)} + \varepsilon}}{u^2} \right] du \\ &\ll k^{\frac{r(r+1)}{2(r+2)}} \int_1^{+\infty} \frac{1}{u^{\frac{2r+3}{(r+2)} - \varepsilon}} du + \int_1^{+\infty} \frac{1}{u^{\frac{r+4}{(r+2)} - \varepsilon}} du < \infty. \end{aligned}$$

So, we can write

$$\begin{aligned} \frac{x}{m} \sum_{d \leq x} \frac{\mu(d)}{d} \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} &= \frac{x}{m} \int_1^{+\infty} \sum_{d \leq x} \frac{\mu(d)}{d} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} \\ &\quad - \frac{x}{m} \sum_{d \leq x} \frac{\mu(d)}{d} \int_{\frac{x}{d}}^{+\infty} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2}. \end{aligned}$$

Notice that if we use equation (15), we get

$$\begin{aligned} \frac{x}{m} \sum_{d \leq x} \frac{\mu(d)}{d} \int_{\frac{x}{d}}^{+\infty} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} &\ll x \sum_{d \leq x} \frac{1}{d} \times \left[k^{\frac{r(r+1)}{2(r+2)}} u^{1 - \frac{2r+3}{(r+2)} + \varepsilon} + u^{1 - \frac{r+4}{(r+2)} + \varepsilon} \right]_{\frac{x}{d}}^{+\infty} \\ &\ll k^{\frac{r(r+1)}{2(r+2)}} x \sum_{d \leq x} \frac{\left(\frac{x}{d}\right)^{-\frac{(r+1)}{(r+2)} + \varepsilon}}{d} + x \sum_{d \leq x} \frac{\left(\frac{x}{d}\right)^{-\frac{2}{(r+2)} + \varepsilon}}{d} \\ &\ll x^{1 - \frac{2}{(r+2)} + \varepsilon} \sum_{d \leq x} \frac{1}{d^{1 + \frac{2}{(r+2)} - \varepsilon}} + k^{\frac{r(r+1)}{2(r+2)}} x^{1 - \frac{(r+1)}{(r+2)} + \varepsilon} \sum_{d \leq x} \frac{1}{d^{1 + \frac{(r+1)}{(r+2)} - \varepsilon}} \\ &\ll x^{1 - \frac{4}{(r+2)} + 2\varepsilon} + k^{\frac{r(r+1)}{2(r+2)}} x^{1 - \frac{2(r+1)}{(r+2)} + 2\varepsilon} \\ &\ll x^{\frac{r-2}{(r+2)} + 2\varepsilon} + k^{\frac{r(r+1)}{2(r+2)}} x^{-\frac{r}{(r+2)} + 2\varepsilon}. \end{aligned}$$

Thus, we deduce that

$$\frac{x}{m} \sum_{d \leq x} \frac{\mu(d)}{d} \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} = \frac{x}{m} \alpha_r + O_{r,\varepsilon} \left(x^{\frac{r-2}{(r+2)}+2\varepsilon} + k^{\frac{r(r+1)}{2(r+2)}} x^{-\frac{r}{(r+2)}+2\varepsilon} \right), \quad (18)$$

where

$$\alpha_r = \int_1^{+\infty} \sum_{d \leq x} \frac{\mu(d)}{d} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2}.$$

We finish with the last sum, if we follow the same steps as above and thanks to **Theorem A** and Lemma 2.1 which are used essentially to check the convergence of our integrals, we obtain

$$\begin{aligned} & \frac{x}{m} \sum_{j=1}^{m-1} \sum_{d \leq x} \frac{\mu(d)}{d} e \left(\frac{-j}{m} a + \frac{j}{m} S(d) \right) \int_1^{\frac{x}{d}} \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2} \\ &= \frac{x}{m} \times \alpha_{m,r} + O_{r,\varepsilon} \left(x^{\frac{r-2}{(r+2)}+2\varepsilon} + k^{\frac{r(r+1)}{2(r+2)}} x^{-\frac{r}{(r+2)}+2\varepsilon} \right), \end{aligned} \quad (19)$$

where

$$\alpha_{m,r} = \sum_{j=1}^{m-1} \int_1^{+\infty} \sum_{d \leq x} \frac{\mu(d)}{d} e \left(\frac{-j}{m} a + \frac{j}{m} S(d) \right) \sum_{h \leq u} \lambda_{\text{sym}^r f}(h) \frac{du}{u^2}.$$

Combining equations (16), (17), (18) and (19), we find that

$$\begin{aligned} \sum_{n \leq x} \widetilde{\lambda_{\text{sym}^r f}}(n) &= \frac{[\alpha_r + \alpha_{m,r}]}{m} x + O_{r,\varepsilon} \left(x^{\frac{r-2}{(r+2)}+2\varepsilon} + k^{\frac{r(r+1)}{2(r+2)}} x^{-\frac{r}{(r+2)}+2\varepsilon} \right) \\ &\quad + O_{r,\varepsilon} \left(k^{\frac{r(r+1)}{2(r+2)}} x \right) + O \left(\frac{x}{(\log x)^{\delta_r}} \right) \\ &= \frac{[\alpha_r + \alpha_{m,r}]}{m} x + O_{r,\varepsilon} \left(k^{\frac{r(r+1)}{2(r+2)}} x \right) + O \left(\frac{x}{(\log x)^{\delta_r}} \right). \end{aligned} \quad \square$$

4 Conclusion

The method used in this paper for the case of the function $\lambda_{\text{sym}^r f}(n)$ works for any arithmetic function since any arithmetic function f satisfies: $f = \mathbf{1} * \mu * \mathbf{f}$. It suffices to know the average order of f and for the error term of $|f|$ and to use Abel's summation formula and the orthogonality relation (11) and to check the convergence of the integrals using **Theorem A**.

Acknowledgements

The author would like to thank the anonymous referees careful reading and comments which improved the exposition of the paper.

References

- [1] Bush, L. E. (1940). An asymptotic formula for the average sum of the digits of integers. *The American Mathematical Monthly*, 47(3), 154–156.
- [2] Chen, G., & He, X. (2022). Uniform estimates for sums of coefficients of symmetric power L -functions. *Lithuanian Mathematical Journal*, 62(4), 421–434.
- [3] Coquet, J. (1975). Sur les fonctions S -multiplicatives et S -additives. Thèse 3^e cycle, Orsay.
- [4] Delange, H. (1972). Sur les fonctions q -additive ou q -multiplicative. *Acta Arithmetica*, 21(1), 285–298.
- [5] Deligne, P. (1974). La conjecture de Weil, I. *Publications Mathématiques de l'IHÉS*, 43, 273–307.
- [6] Deligne, P. (1980). La conjecture de Weil, II. *Publications Mathématiques de l'IHÉS*, 52, 137–252.
- [7] Gelbart, S. (2009). *Notes on Langlands picture of automorphic forms and L -functions. Lecture X: Langlands Program*. Available online at: <http://www.prime.sdu.edu.cn/info/1020/1132.htm>
- [8] Gelfond, A. O. (1968). Sur les nombres qui ont des propriétés additives et multiplicatives données. *Acta Arithmetica*, 13(3), 259–265.
- [9] Mazhouda, K., Mbarki, K., & Wu, J. (2017). Le premier coefficient négatif des fonctions L de puissances symétriques. *Functiones et Approximatio Commentarii Mathematici*, 56(2), 239–258.
- [10] Royer, E., & Wu, J. (2007). Special values of symmetric power L -functions and Hecke eigenvalues. *Journal de Théorie des Nombres de Bordeaux*, 19(3), 703–752.
- [11] Sándor, J., & Crstici, B. (2004). *Handbook of Number Theory II*. Springer.
- [12] Tang, H., & Wu, J. (2016). Fourier coefficients of symmetric power L -functions. *Journal of Number Theory*, 167, 147–160.